LONGRANGE

AT YV T S
.’_.i._."\!_/ '\qf'IL"uU'\:lf'l |_| J \-_.-’E
23 Industry Crt, Lilydale VIC 3140

Ph: 03 9739 5667 Fax: 03 9739 5057

Fitting Kit Contents

Part Number TLCZ75TA

Brass Electrical

Bolts/ Nuts Sender

Hose Clamps CableTies

Hose Misc Parts

Filters
Kit Packed By: Checked By:




LONGRANGE

AURCIOMVE
23 Industry Crt, Lilydale VIC 3140
Ph: 03 9739 5667 Fax: 03 9739 5057

Fitting Kit Contents

Part Number TLCZ75TA
Brass Electrical
1x P14 1/4 x 1/4 6mm Tee 1 x 3mm 2 Core Wire 4000mm
1 x P6 5/16 x 1/4 8mm Elbow Long
1 x P3 1/2 x 1/4 12mm Straight 1 x LRA-PG200 Switch/Gauge
1 x 12mm x 8mm reducing tee 1 x Red Insulated Terminal
1 x P3 1/4x1/4 6mm Straight 1 x 8mm Blue Earth Eye
1 x 6mm Blue Earth Eye
4 x 3mm Heat Shrink
FILTERS/PUMPS
1 x Fuel Pump
1 x Z14K Fuel Filter
Bolts/ Nuts Sender
5 x M5 x 10mm Pan Head Screws 1 x VDO Sender 220-004 c/w
4 x M10 x 30mm Bolt 900mm Earth Wire Soldered On
4 x M10 Nyloc Nut
8 x M10 x 25mm Washers
2 x M10 Spring Washers
2 x M8x25 Bolt
2 x M8 Flat Washer
2 x M8 Spring Washer
3 x M5x12 Pan Head Screws
3 x M5 Nuts
2 X M6x16 Bolts
2 x M6 Nuts
2 x M6 Washers
2 x M6 Spring Washers
Hose Clamps CableTies
10 x 1/4" Hose Clamp 12 x 7" Cable Ties
4 x 1/2" Hose Clamp 2 x 11" Cable Ties
2 x 1 1/2" Hose Clamp
Hose Misc Parts
1 x 44mm Fuel Hose 400mm Long 1 x 44mm Straight Filler Neck &
Kit Packed By: Checked By:




LONGRANGE

AURCIOMVE
23 Industry Crt, Lilydale VIC 3140
Ph: 03 9739 5667 Fax: 03 9739 5057

Fitting Kit Contents

1 x12mm CMP Hose 450mm Long
1 x 8mm Fuel Hose 2000mm Long
1 x 6mm Fuel Hose 2250mm Long

Filters

Kit Packed By:

Checked By:

Locking Cap

1 x Filler Neck Mounting Plate

1 x Front Secondary Bracket

1 x Rear Cross Member c/w
Bolts Welded On

2 x 30x25 Plate with M10 Nut
and 300mm Wire Attached

1 x 6mm Conduflex 1400mm
Long

7 x PAGES CONSISTING OF:-

2 x Pages Fitting Instructions

1 x Page Fitting Kit Contents

1 x Page Exhaust Modification
Notes

1 x Page Exhaust Pipe Bending
Instructions

1 x Page Exhaust Modification
Diagram

1 x Page Wiring Diagram




